
Home » Kobalt » KOBALT 9400 2 Shelf Utility Cart Instruction Manual  

KOBALT 9400 2 Shelf Utility Cart

KOBALT 9400 2 Shelf Utility Cart Instruction Manual

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/kobalt
https://manuals.plus/kobalt/9400-2-shelf-utility-cart-manual.pdf


Contents
1  Package Contents
2  Hardware Contents
3  Safety Information
4  Preparation
5  Assembly Instructions
6  Hardware Used
7  Care And Maintenance
8  Customer Support
9  Documents /
Resources

9.1  References
10  Related Posts

Package Contents

https://manuals.plus/#package_contents
https://manuals.plus/#hardware_contents
https://manuals.plus/#safety_information
https://manuals.plus/#preparation
https://manuals.plus/#assembly_instructions
https://manuals.plus/#hardware_used
https://manuals.plus/#care_and_maintenance
https://manuals.plus/#customer_support
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts


PART DESCRIPTION QUANTITY

A Leg 2

B Leg 2

C Top Shelf 1

D Bottom Shelf 1

E Swivel Caster 2

F Front Caster 2

G Cable Rack 2

Hardware Contents

(not shown in actual size)

M6 x 25 mm Phillips Head Screw Qty. 4

M8 x 40 mm BoltQty. 16

M8 mm Spring Washer Qty. 16



M8 mm Hex Nut Qty. 16

 Safety Information

Please read and understand this entire manual before attempting to assemble, operate or install the product.

Wear safety glasses when assembling this product.

Do not alter this product in any manner. This may cause product damage or personal injury.

Keep the product on a level surface. The product may become unstable and tip if stored or moved on an

unlevel surface, and may cause personal injury or product damage.

The maximum loaded weight for this unit is not more than 250lb. (113Kg) per shelf and 500lb.(227Kg) total.

Always wear safety goggles when working with tools and equipment.

 WARNING

To prevent personal injury and/or property damage, distribute the weight in this item evenly.

CAUTION

Do not stand on this product. You may fall, which may cause personal injury.

Do not exceed a maximim load of 250lb. (113kg) per shelf.



Preparation

Before beginning assembly of product, make sure all parts are present. Compare parts with package contents list
and hardware contents list. If any part is missing or damaged, do not attempt to assemble the product.

Tools Required for Assembly (not included): Rubber Mallet, Phillips Screwdriver, Safety Goggles, Flathead
Screwdriver, Wrench.

Assembly Instructions

1. With the top shelf (C) upside down, attach the legs (A and B) to the top shelf, as shown.

Use a rubber mallet to seat them completely in place.

Using a Phillips screwdriver, secure the legs (A and B) to the top shelf (C) with the Phillips head screws (AA)

(one per leg).

Do not overtighten.



2. Position the bottom shelf (D) on the legs (A and B) as shown.

Place the front casters (F) into the pockets into the front corners of the bottom shelf, as shown. Secure them

with four screws (BB), lock washers (CC), and hex nuts (DD) each.

Place the swivel casters (E) into the pockets in the back corners of the bottom shelf (D), as shown. Secure them

with four screws (BB), lock washers (CC), and hex nuts (DD) each.

3. Click cable racks (G) on at your desirable place.



Hardware Used

M6 x 25 mm Phillips Head Screw x 4

M8 x 40 mm Bolt x 16

M8 mm Spring Washer x 16

 M8 mm Hex Nut x 16

Care And Maintenance

Check the overall condition of the product periodically.

Tighten any loose bolts and repair or replace any broken parts.

WARRANTY



This item carries a Limited Lifetime warranty from the date of purchase against defective parts and workmanship.
The warranty does not cover damage due to mishandling or abuse. This warranty gives you specific legal rights,
and you may have other rights that vary from state to state.

Customer Support

KOBALTand logo design are trademarks or registered trademarks of LF, LLC.
All rights reserved.

Thank you for purchasing this KOBALT product.
Questions, problems or missing parts?

Before returning, contact us on:
888-356-2258, 8 a.m. – 8 p.m., EST, Monday – Sunday or ascs@lowes.com.

Documents / Resources

KOBALT 9400 2 Shelf Utility Cart  [pdf] Instruction Manual
9400 2 Shelf Utility Cart, 9400, 2 Shelf Utility Cart, Utility Cart, Cart

References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://phone.gd/phone/888-356-2258
mailto:ascs@lowes.com
https://manuals.plus/m/fdeefef1406131af303c4a4d7b93f51fb7595555e0a144a757abc54804e19827
https://manuals.plus/m/fdeefef1406131af303c4a4d7b93f51fb7595555e0a144a757abc54804e19827_optim.pdf
https://manual.tools/?p=15218131#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	KOBALT 9400 2 Shelf Utility Cart Instruction Manual
	Package Contents
	Hardware Contents
	Safety Information
	Preparation
	Assembly Instructions
	Hardware Used
	Care And Maintenance
	Customer Support
	Documents / Resources
	References



